

ROMANIAN MATHEMATICAL MAGAZINE

$$\text{If } \begin{cases} a + b + c = 0 \\ ab + ac + bc = -3 \\ bac = 2 \end{cases} \text{ then find } \frac{\sum a^2 \sum a^6}{\sum a^3 \sum a^5}$$

Proposed by Marin Chirciu-Romania

Solution by Togrul Ehmedov-Azerbaijan

We know that:

$$\sum a^2 = \left(\sum a\right)^2 - 2 \sum ab \Rightarrow \sum a^2 = 6$$

a,b and c are the roots of the equation:

$$x^3 - 3x - 2 = 0$$

$$\begin{cases} \sum a^3 - 3 \sum a - 6 = 0 \\ \sum a^4 - 3 \sum a^2 - 2 \sum a = 0 \\ \sum a^5 - 3 \sum a^3 - 2 \sum a^2 = 0 \\ \sum a^6 - 3 \sum a^4 - 2 \sum a^3 = 0 \end{cases} \Rightarrow \begin{cases} \sum a^3 = 6 \\ \sum a^4 = 18 \\ \sum a^5 = 30 \\ \sum a^6 = 66 \end{cases} \Rightarrow \frac{\sum a^2 \sum a^6}{\sum a^3 \sum a^5} = 2, 2$$